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;DklQ s/ -cg';"rL – !_ 
;DklQ s/ k|of]hgsf] nflu 

  hUufsf] Go"gtd d"NofÍg b/ /]6 
j8f g+= If]q lgwf{/0f :yfg Go"gtd d"No  

-k|lt cfgf ?=_ 

1 

-s_ Jofkfl/s If]q   

-v_ cfjfl;o 

7}j–uf]bfdrf}/, xf8]ufpF–uf]bfdrf}/ ;8s;Fu 
hf]l8Psf hUufx¿ 

4,68,000 

nlnt 3'DtL ;8s;Fu hf]l8Psf hUufx¿ 3,51,00 0 
cGo sRrL ;8s;Fu hf]l8Psf hUufx¿ 2,34,000 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 1,64,250 

-u_ s[lif af6f] gePsf hUufx¿ 85,200 
-3_ jg÷kfvf] tyf au/ If]q  23,400 

 

2 

-s_ Jofkfl/s If]q   

-v_ cfjfl;o 
nlnt 3'DtL ;8sn] 5f]Psf hUufx¿ 3,51,000 
nlnt 3'DtL ;8s;Fu hf]l8Psf] ;xfos sRrL 
;8s hUufx¿ 

2,34,000 

-u_ s[lif uf]/]6f] af6f] / s'nf];Fu hfl8Psf] hUufx¿ 1,64,250 
af6f] gePsf hUufx¿ 85,200 

-3_ jg÷kfvf] tyf au/ If]q 
-pkTosf aflx/_ 

af6f] ePsf] hUuf 85,200 
le/ kfvf]n] 5f]Psf] hUufx¿ 23,400 

3 

-s_ Jofkfl/s If]q uf]bfj/L d"n lkr ;8sn] 5f]Psf] hUufx¿ 9,36,000 

-v_ cfjfl;o 

d"n lkr ;8s;Fu hf]l8Psf] ;xfos lkr 
;8sn] 5f]Psf] hUufx¿ 

6,43,500 

cGo lkr ;8sn] 5f]Psf] hUufx¿ 5,26,500 
nlnt 3'DtL ;8sn] 5f]Psf hUufx¿ 3,51,000 
d"n lkr ;8s;Fu hf]l8Psf] ;xfos sRrL 
;8sn] 5f]Psf] hUufx¿ 

3,51,000 

uf]/]6f] af6f] / s'nf];Fu hfl8Psf] hUufx¿ 2,34,000 
-u_ s[lif af6f] gePsf] ;Dk"0f{ hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

4 

-s_ Jofkfl/s If]q   

-v_ cfjfl;o 

6f}v]n, al8v]n d"n lkr ;8s;Fu hf]l8Psf 
hUufx¿ 

5,85,000 

6f}v]n, al8v]n zfvf lkr;Fu hf]l8Psf hUufx¿ 4,68,000 
nlnt 3''DtL ;8s;Fu hf]l8Psf hUufx¿ 3,51,000 
cGo sRrL ;8s;Fu hf]l8Psf hUufx¿ 2,34,000 
s'nf] uf]/]6f] af6f]x¿;Fu hf]l8Psf hUufx¿ 1,64,250 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

5 
-s_ Jofkfl/s If]q rfkfufpF, n]n], uf]6Lv]n d"n ;8s;Fu hf]l8Psf] 

hUufx¿ 
5,85,000 
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-v_ cfjfl;o 
nlnt 3''DtL ;8s;Fu hf]l8Psf hUufx¿ 3,51,000 
cGo sRrL ;8s;Fu hf]l8Psf hUufx¿ 2,34,000 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 1,46,250 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

6 

-s_ Jofkfl/s If]q sflGtnf]sky, rfkfufpF, n]n] d"n ;8s;Fu 
hf]l8Psf] hUufx¿ 

4,68,000 

-v_ cfjfl;o 
nlnt 3''DtL ;8s;Fu hf]l8Psf hUufx¿ 3,51,000 
cGo sRrL ;8s;Fu hf]l8Psf hUufx¿ 1,75,500 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 1,17,000 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

7 

-s_ Jofkfl/s If]q 
 

 

-v_ cfjfl;o 
sflGtnf]sky d"n ;8s;Fu hf]l8Psf] hUufx¿ 3,51,000 

sRrL ;8s;Fu hf]l8Psf hUufx¿ 1,17,000 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 87,750 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  29,250 

8 

-s_ Jofkfl/s If]q 
 

 

-v_ cfjfl;o 
vf]sgf, 8's'5fk d"n ;8s;Fu hf]l8Psf] 
hUufx¿ 

3,51,000 

sRrL ;8s;Fu hf]l8Psf hUufx¿ 1,17,000 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 87,750 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  29,250 

9 

-s_ Jofkfl/s If]q 
 

 

-v_ cfjfl;o 
;}+j', 5DkL, l6sfe}/j d"n ;8s;Fu hf]l8Psf 
hUfux¿ 

58,5000 

sRrL ;8s;Fu hf]l8Psf hUufx¿ 3,51,000 

uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 1,46250 
-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  29,250 

10 

-s_ Jofkfl/s If]q ;ftfbf]af6f], rfkfufpF d"n ;8s;Fu hf]l8Psf] 
hUufx¿ 

8,19,000 

-v_ cfjfl;o 
zfvf lkr ;8sn] 5f]Psf] hUufx¿ 5,85,000 
sRrL ;8sn] 5f]Psf] hUufx¿ 4,09,500 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 2,34,000 

-u_ s[lif If]q af6f] gePsf hUufx¿ 87,750 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

11 

-s_ Jofkfl/s If]q ;ftfbf]af6f], rfkfufpF d"n ;8s;Fu hf]l8Psf] 
hUufx¿ 

8,19,000 

-v_ cfjfl;o zfvf lkr ;8sn] 5f]Psf] hUufx¿ 5,85,000 
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sRrL ;8sn] 5f]Psf] hUufx¿ 4,095,00 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 2,34,000 

-u_ s[lif If]q af6f] gePsf hUufx¿ 87,750 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

12 

-s_ Jofkfl/s If]q ;ftfbf]af6f], rfkfufpF d"n ;8s;Fu hf]l8Psf] 
hUufx¿ 

8,19,000 

-v_ cfjfl;o 
zfvf lkr ;8sn] 5f]Psf] hUufx¿ 5,85,000 
sRrL ;8sn] 5f]Psf] hUufx¿ 2,92,500 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 2,34,000 

-u_ s[lif If]q af6f] gePsf hUufx¿ 87,750 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

13 

-s_ Jofkfl/s If]q   

-v_ cfjfl;o 

lkr ;8sn] 5f]Psf] hUufx¿ 5,85,000 
zfvf lkr ;8sn] 5f]Psf] hUufx¿ 4,68,000 
sRrL ;8sn] 5f]Psf] hUufx¿ 3,51,000 
uf]/]6f] af6f];Fu hf]l8Psf hUufx¿ 2,34,000 

-u_ s[lif If]q af6f] gePsf hUufx¿ 58,500 
-3_ jg÷kfvf] tyf au/ If]q  58,500 

14 

-s_ Jofkfl/s If]q d"n lkr ;8s;Fu hf]l8Psf] ;xfos lkr 
;8sn] 5f]Psf] hUufx¿ 

9,36,000 

-v_ cfjfl;o 

cGo lkr ;8sn] 5f]Psf] hUufx¿ 5,85,000 
d"n lkr ;8s;Fu hf]l8Psf] ;xfos sRrL 
;8sn] 5f]Psf] hUufx¿ 

4,09,500 

uf]/]6f] af6f] / s'nf];Fu hfl8Psf] hUufx¿ 2,92,500 
-u_ s[lif If]q af6f] gePsf] ;Dk"0f{ hUufx¿ 87,750 
-3_ jg÷kfvf] tyf au/ If]q 

 

58,500 

 ;+/rgfsf] agf]6 M 
1. cf/=l;=l;= k|m]d :6Sr/ 
2. l;d]06 hf]8fO{df cf/=l;=l;= 5fgf jf lk|=ˆofa 
3. df6f]sf] hf]8fO{df cf/=l;=l;= jf l;d]06 hf]8fO{df h:tf jf 6fonsf] 5fgf  
4. df6f]sf] hf]8fO{df h:tf jf 6fonsf] 5fgf 
5. ;]8 
6. sRrL3/ 

;+/rgf /x]sf] If]q M 
1. Jofkfl/s If]q 
2. cfjfl;o If]q 
3. s[lif If]q 
4. jg / ju/ If]q 

;+/rgfsf] k|of]u M 
1. cf}Bf]lus, Jofkfl/s / ;+:yfut 
2. a;f]jf; 
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 d'Nof+sg b/ 
 

If]q 

;+/rgf k|lt ju{ lkm6 ?= 
cf/=l;=l;= k|m]d 

:6Sr/ 
l;d]06 hf]8fO{df 

cf/=l;=l;= 5fgf jf 
lk|=ˆofa 

df6f]sf] hf]8fO{df 
cf/=l;=l;= jf l;d]06 
hf]8fO{df h:tf jf 
6fonsf] 5fgf  

df6f]sf] hf]8fO{df 
h:tf jf 6fonsf] 

5fgf / sf7sf] 3/df 
l6gsf] 5fgf 

;]8 

Jofkfl/s, 
cf}Bf]lus 

tyf 
;+:yfut 

a;f]jf;  
Jofkfl/s, 
cf}Bf]lus 

tyf 
;+:yfut 

a;f]jf;  
Jofkfl/s, 
cf}Bf]lus 

tyf 
;+:yfut 

a;f]jf;  
Jofkfl/s, 
cf}Bf]lus 

tyf 
;+:yfut 

a;f]jf;  Jofkfl/s, 
cf}Bf]lus 

tyf 
;+:yfut 

a;f]jf;  

! Jofkfl/s 3,575 2,750 2,475 1,980 1,650 1,320 1,100 880 825 660 

@ cfjf;Lo 3,250 2,500 2,250 1,800 1,500 1,200 1,000 800 750 600 

# s[lif 2,925 2,250 2,025 1,620 1,350 1,080 900 720 675 540 

$ jg tyf ju/ 2,633 2,025 1,823 1,458 1,215 972 810 648 608 486 

  sRrL 3/ Psd'i6 ?= !),))) 

 

;+/rgfsf] pk/f]Qm cg';f/ x'g cfpg] d'Nof+sg b//]6df lgDg cg';f/n] Xf;s§L u/L # aif{;Ddsf] nflu ;+/rgfsf] 
d'No sfod ug]{ .  
 ;+/rgfsf] Xf;s§L b/ 

 

;+/rgfsf] cfo' 

;+/rgfsf] lsl;d 

cf/=l;=l;= k|m]d 
:6Sr/ 

l;d]06 
hf]8fO{df 
cf/=l;=l;= 
5fgf jf 
lk|=ˆofa 

df6f]sf] hf]8fO{df 
cf/=l;=l;= jf l;d]06 
hf]8fO{df h:tf jf 
6fonsf] 5fgf 

df6f]sf] hf]8fO{df 
h:tf jf 

6fonsf] 5fgf / 
sf7sf]f 3/df 
l6gsf] 5fgf 

;]8 sRrL 
3/ 

! – # jif{ 6 9 12 15 20 20 

# – ^ jif{ 12 18 24 30 40 40 

^ – ( jif{ 18 27 36 45 60 60 

( – !@ jif{ 24 36 48 60 80 80 

!@ – !% jif{ 30 45 60 75 90 90 

!% – !* jif{ 36 54 72 90 90 90 

!* – @! aif{ 42 63 84 90 90 90 

@! – @$ jif{ 48 72 90 90 90 90 

@$ – @& jif{ 54 81 90 90 90 90 

@& – #) jif{ 60 90 90 90 90 90 

#) – ## jif{ 
      

 

;DklQ s/sf] b/ lgwf{/0f 
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s/of]Uo ;DklQsf] d"No aflif{s b/ 
bz nfv ?k}ofF;Ddsf] d"Nof+sgdf Ps d'i7 ?= 110 
bz nfv Ps b]lv krf; nfv ?k}ofF;Dd k|lt nfv ?= 12 
krf; nfv Ps b]lv Ps s/f]8 ?k}ofF;Dd k|lt nfv ?= 13 
Ps s/f]8 Ps b]lv b'O{ s/f]8 ?k}ofF;Dd k|lt nfv ?= 16 
b'O{ s/f]8 Ps ?k}ofFb]lv ltg s/f]8 ?k}ofF;Dd k|lt nfv ?= 18 
ltg s/f]8 Ps ?k}ofFb]lv kfFr s/f]8 ?k}ofF;Dd k|lt nfv ?= 24 
kfFr s/f]8 eGbf dfly k|lt nfv ?= 30 
gf]6 M d"NofÍg /sdnfO{ ?= nfvdf (Round figure) df kl/0ft u/L s/sf] b/ lgwf{/0f x'g]5 . 

e"ld s/ -dfnkf]t_ cg';"rL – @ 



dfnkf]t b:t''/ -k|lt cfgfdf x'g]5_   

 dfnkf]t 7 

 dfnkf]t -8's'5fk / b]jLrf}/_ 6 

 dfnkf]t -afemf] hldgsf] xsdf_ 25 

 ;/sf/L ;fd'bflos ljBfnosf] dfnkf]t s/ lgMz'Ns 

3/ jxfn s/ -cg';"rL – #_ 
 ;+:yfut -;Demf}tf /sdsf]_ 10% 

 JolQmut  -;Demf}tf /sdsf]_ 6% 

Joj;flos s/ -cg';"rL – $_ 
qm;/ 

  Ohfht btf{ glj/s0f Joj;fo btf{ gljs/0f 
 ) b]lv #) xif{ kfj/;Dd 50,000 -krf; xhf/_ 50,000 

 #) b]lv !%) xif{ kfj/;Dd 3,00000 -ltg nfv_ 50,000 

 !%! b]lv $)) xif{ kfj/;Dd 6,00,000 -5 nfv_ 50,000 

 $)! b]lv dfly 10,0000 -bz nfv_ 50,000 

vfgL 
  Ohfht btf{ glj/s0f Joj;fo btf{ gljs/0f 
 jfn'jf÷9'Ëf 8,00,000 -cf7 nfv_ 50,000 

lkm/lkm/] 
  Ohfht btf{ glj/s0f Joj;fo btf{ gljs/0f 
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 lkm/lkm/] 4,00,000 -rf/ nfv_ 50,000 

 r'g9'Ëf vfgL -l;d]G6_ – 5,00,000 

 afn'jf jfl;Ë  4,00,000 
 



OF§f pBf]u Joj;fo btf{ -k"jf{wf/÷pkof]u z'Ns÷jftfj/0f k|b'if0f z'Ns ;d]t ?= rf/ 
nfv ± krf; xhf/ ± krf; xhf/_ 5,00,000 

 lxdfnog a'|c/L ln=  3,00,000 



-s_ kfgL 6\ofÍ/ Joj;fo btf{, gljs/0f -k"jf{wf/÷pkof]u z'Ns;d]t ?= krf; 
xhf/ ± krf; xhf/_ 1,50,000 


-v_ kfgL Joj;fox¿ ;a}  1,50,000 


-u_ JolQmut, ;+:yfut, l8k af]l/Ë -laqmL ljt/0f k|of]hg afx]s_ 1,00,000 


sfFrf] OF§f lgdf{0f j;f/ k;f/ Ps gu/kflnsfb]lv csf]{ gu/kflnsf;Dd k|lt 
Joj;fo 50,000 

 dlb/f pBf]u l8li6n/L -pTkfbg Ifdtf xif{ kfj/sf] cfwf/df_  @ nfvb]lv % 
nfv;Dd 

 vh'/L k'm8 OG8li6«h -ljis'6 O08li6«h_ 1,00,000 
 gfª\nf] a]s/L pBf]u 1,00,000 
 lh=cfO{=kfOk pBf]u 1,00,000 
 UofFF; pBf]u 1,00,000 
 dlb/f pBf]u -jfOg_ 50,000 
 h'Qf rKkn agfpg] 7"nf] pBf]u 50,000 
 Xofr/L pBf]u 25,000 
 6fon -3/ 5fpg]_ pBf]u -Joj;fo Pj+ jftfj/0f s/_ jfkt 25,000 
 Xo"d kfO{k pBf]u 25,000 
 ln8 aNj, lrd pBf]u -jftfj/0f z'Ns±Joj;fo_ 50,000 
 u'/fof k'm8 pBf]u k|f=ln=  20,000 
 kl:dgf pBf]u 50,000 
 bfgf pBf]u 10,000 
 5fnf k|zf]wg pBf]u 50,000 
 Knfli6s pBf]u 10,000 
 6fo/ l/;f]]lnË pBf]u 10,000 
 pmg pBf]u 5,000 
 h'Qf rKkn ;fgf pBf]u 5,000 
 sk8f pBf]u 5,000 
 sk8f l/;fOsn pBf]u 3,000 
 wfuf] pBf]u÷un}+rf pBf]u÷sfk]{6 pBf]u÷sDan pBf]u 10,000 
 ljh'nL aQL ;fdfg pTkfbg pBf]u 5,000 
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 tfdfsf] efF8f] agfpg] pBf]u 5,000 
 cfnd'lgodsf efF8f agfpg]  5,000 
 sfF;sf] efF8f agfpg] pBf]u 5,000 
 lkQnsf] efF8f agfpg] pBf]u 5,000 
 xf]lhof/L pBf]u 5,000 
 ;fa'g pBf]u 5,000 
 lu|n pBf]u 5,000 
 kmf]d pBf]u 5,000 
 sfF6L lsnf pBf]u 4,000 
 kfp/f]6L pBf]u  10,000 
 rsn]6 pBf]u 3,000 
 s'6 pBf]u 5,000 
 k]G6 pBf]u 5,000 
 8f]/L pBf]u 2,000 
 Un'sf]h pTkfbg pBf]u 3,000 
 ljljw ;fdu|Lsf] l/KoflsË pBf]u 3,000 
 Xofl08qmfˆ6 pBf]u  5,000 
 x:tsnf pBf]u 5,000 
 x:tsnf lgdf{0f -;fdfGo_ 2,000 
 slk sfuh pBf]u 5,000 
 s'6 pBf]u 3,000 
 w'k pBf]u 5,000 
 lk7f] pTkfbg pBf]u 5,000 
 rs pBf]u 5,000 
 a/km tyf cfO{;lqmd pBf]u 5,000 
 sf6'{g pBf]u 5,000 
 sfi7 kmlg{r/ pBf]u 5,000 
 bfndf]7 pBf]u 5,000 
 l;d]G6 Ans, 6fon, Ogf/ l/Ë pBf]u 10,000 
 h8La'6L÷k|zf]wg tyf cf}ifwL pBf]u 25,000 
 emf]nf pBf]u  10,000 
 Knfli6s emf]nf k;n 

 


7'nf ?=% nfveGbf dfly 5,000 


;fgf ?=% nfv;Dd 3,000 

 ‰ofn, 9f]sf, vfkfdf k|of]u x'g] cfNd'lgod pTkfbg ug]{  
 


! s/f]8 dfly 15,000 
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
!) b]lv ! s/f]8;Dd 10,000 


!) nfv;Dd 5,000 

 cfNd'lgod ‰ofn, 9f]sf dd{t 5000 
 sfi7 kmlg{r/ k;n 

 


?=% nfveGbf dfly 5,000 


?=% nfv;Dd 3,000 

 s[lif tyf jghGo pBf]u    

  !) nfveGbf dfly 3,000 

  !) nfveGbf d'lg 1,500 
 ;]/flds 6fon pBf]u   


%) nfv dfly 50,000 


%) nfv;Dd 25,000 

 uf]bfd xfp; -ljleGg k|sf/sf ;fdfgx¿sf]_ 10,000  
 dfly pNn]lvt afx]s cGo ;fgf pBf]usf] xsdf  3,000 
 d‰of}nf pBf]usf] xsdf 10,000 
 7"nf pBf]usf] xsdf 25,000 
 Ps tf/] xf]6n 30,000 
 b'O{ tf/] xf]6n 50,000 
 tLg tf/] xf]6n 100,000 
 rf/ tf/] xf]6n 2,00,000 
 kfFr tf/] xf]6n 3,00,000 


:6f/ xf]6ns]f dfGotf gkfPsf] t/ %) j6f sf]7feGbf dfly ;~rflnt xf]6n 
Joj;fo 100,000 


:6f/ xf]6ns]f dfGotf gkfPsf] t/ @) b]lv %) sf]7f;Dd ;~rflnt xf]6n 
Joj;fo 40,000 


:6f/ xf]6ns]f dfGotf gkfPsf] t/ ! b]lv @) sf]7f;Dd ;~rflnt xf]6n 
Joj;fo 15000 

 ;fdfGo l/;f]{6x¿ -;a} k|sf/sf_ 15,000 


gu/kflnsfsf] k|fs[lts ;|f]t k|of]u u/L ;~rfng ePsf 6«fp6 Joj;fo z'Ns 
?= $)))).– btf{{ z'Ns ?= !)))).– 50,000 

 uhn tyf 8fG; /]i6'/]G6  25,000 
 s6]h /]i6'/]G6  

 


sf]7f / Sofljg !) eGbf dfly ePsf] 15,000 


sf]7f / Sofljg !) eGbf d'lg 10,000 

 cGo /]i6'/]G6x¿ -/]i6'/]G6 k|sf/sf vfhf 3/_ 5,000 
 xf]6n P08 nh   

  u]i6 xfp; -@! sf]7feGbf dfly_ 30,000 
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  u]i6 xfp; -@) sf]7f;Dd_ 15,000 
 xf]]d:6] ;~rfng -snf ;+:s[lt emNsfpg]_ lgMz'Ns 
 Sofl;gf] 1,00,000 
 ldlg Sofl;gf] 50,000 
 /]i6'/]G6 tGb'/L, kmfi6km'8 10,000 
 Sof6l/Ë tyf /]G6n  10,000 
 Sof6l/Ë ;DaGwL ;Dk"0f{ ;fdfg x¿ agfpg] k;n 5,000 
 l8kf6{d]G6 :6f]/  10,000 
 dlb/f Joj;fo btf{ yf]s -:jb]zL tyf ljb]zL dlb/f_    

  7'nf ?=@) nfveGbf dfly 25,000 

  ;fgf ?=@) nfv;Dd 15,000 
 dlb/f Joj;fo v'b|f 

 


7'nf ?=@) nfveGbf dfly 10,000 


;fgf ?=@) nfv;Dd 5,000 

 ;'lt{hGo j:t'sf] sf/f]jf/ yf]s 
 


7'nf ?=@) nfveGbf dfly 25,000 


;fgf ?=@) nfv;Dd 15,000 

 ;'lt{hGo j:t'sf] v'b|f 
 


7'nf ?=% nfveGbf dfly 10,000 


;fgf ?=% nfv;Dd 5,000 

 tfdf, lkQn, sfF; tyf cfNd'lgod ;a} 3,000 
 l6=le= dd{t 3,000 


uf]bfj/L gu/kflnsf leq ;~rflnt lglh -;+:yfut_ ljBfnox¿nfO{ o; gu/kflnsfdf  
cf=j= )&^÷)&& af6 nfu" u/L ;"lrs[t ug{sf] nflu lgDgfg';f/ b:t'/ lng] .  


-s_ k"j{ k|fylds txb]lv sIff * ;Dd 10,000 


-v_ dfWolds tx ;~rfng ePsf ljBfno 15,000 

 o; gu/kflnsfaf6 sIff yksf] cg'dlt tyf btf{ ubf{ lgDgcg';f/sf] z'Ns lng] . 


lk|–k|fOd/L tyf dG6]Zj/L 10,000 


sIff ! 12,000 


sIff @ 13,000 


sIff # 14,000 


sIff $ 15,000 


sIff % 16,000 


sIff ^ 17,000 


sIff & 18,000 


sIff * 19,000 
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
sIff ( 25,000 


sIff !) 30,000 


sIff !! 75,000 


sIff !@ 75,000 

 ljZjljBfno 2,50,000 
 d]l8sn sn]h 2,50,000 
 gl;{Ë sn]h, Pr=P=, l;=Pd=P= Pj+ cGo 6]SgLl;og lzIff lbg] sn]h 50,000 
 k|fOe]6 xf]:6]nx¿ 10,000 
 ;fd'bflos ;/sf/L ljBfno l;kmfl/; b:t'/ lgMz'Ns 
 Joj;fo -ls/fgf_    

  ?=!) nfveGbf dfly 10,000 

  ?= % nfvb]lv !) nfv;Dd 5,000 


?= % nfveGbf;Dd 2,000 

 ;'g, rfFbL uxgf a]Rg], agfpg] k;n  
 


! s/f]8 eGbf dfly 15,000 


?= @) nfvb]lv ! s/f]8;Dd 10,000 


?= @) nfv;Dd 7,000 

 On]S6«f]lgs ;fdfg vl/b laqmL Joj;fo    

  ?= !) nfveGbf dfly 5,000 

  ?= !) nfv;Dd 3,000 
 h'Qf tyf rkn k;n    

  ?= !) nfveGbf dfly 3,000 

  ?= !) nfv;Dd 2,000 
 lgdf{0f ;fdfu|L xf8{jo/ Joj;fo  

 


@ s/f]8eGbf dfly 30,000 


?= %) nfv b]lv @ s/f]8;Dd  20,000 


?= %) nfv;Dd 10,000 

 sfi7 ;ldn Joj;fo    

  ?= !) nfv dfly  15,000 

  ?= !) nfv d'lg 10,000 
 :6Ln kmlg{r/ k;n   

  ?= !) nfveGbf dfly 15,000 

  ?= !) nfv;Dd 10,000 
 kmlg{l;ª -kbf{, sfk]{6, sf7hGo, :6LnhGo kmlg{r/ nufot_ 

 


! s/f]8eGbf dfly 25,000 


?= !) nfvb]lv ! s/f]8;Dd 15,000 
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
?= !) nfv;Dd 5,000 

 k]6«f]lnod kDk  50,000 
 sk8f k;n 

 


?= !) nfveGbf dfly 5,000 


?= !) nfv;Dd 3,000 

 sk8f km]G;L :6f]/  5,000  
 s:d]l6s k;n 5,000 
 ;jf/L ;fwg laqm]tf  25,000  
 ljz]if k/fdz{ tyf cGo Joj;flos ;]jf    

  ?= % nfveGbf dfly 5,000 

  ?= % nfv;Dd 3,000 
 sfg'g Joj;foL  3,000 
 OlGhlgol/Ë tyf sG;N6]G;L  5,000 
 n]vfkl/Ifs    

  l;=P=  3,000 

  cGo  1,000 
 bGt kl/Ifs 3,000 
 cg';Gwfgstf{ tyf k/fdz{bftf 2,000 
 sDKo'6/ Pgflni6 tyf k|f]ufd/ -j]e l8hfOg/_   

  >]0fL lj1 3,000 

  >]0fL ;fdfGo 2,000 
 ladf clestf{ 5,000 
 ;e]{o/  2,000 
 cg'jfbs 2,000 
 kz' lrlsT;s  2,000 
 ;]o/ bnfn  3,000 
 ;fdfg 9'jfgL tyf sDkgL 6«fG;kf]6{ ;le{;  4,000 
 ;+:yfut k]G6/  4,000 
 ;fdfGo k]G6/  2,000 
 cgnfO{g klqsf 3,000 
 lgdf{0f Joj;foL    

  >]0fL lgdf{0f Joj;fo ―s‖ ju{ 25,000 

  >]0fL lgdf{0f Joj;fo ―v‖ ju{ 15,000 

  >]0fL lgdf{0f Joj;fo ―u‖ ju{ 10,000 

  >]0fL lgdf{0f Joj;fo ―3‖ ju{ 7,000 
 sG:6«S;g Joj;fo  5,000 
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 lgdf{0f pBf]u ;8s k'n cfjf; tyf sDKn]S; -xfplhË sG:6«S;g sDkgL_ 1,50,000  
 6]S;f6fOn pBf]u  

 


! s/f]8eGbf dfly 15,000  


?= !) nfvb]lv ! s/f]8;Dd 10,000 


?= !) nfv;Dd 5,000 

 ufd]{G6 pBf]u  
 


! s/f]8eGbf dfly 15,000  


?= !) nfvb]lv ! s/f]8;Dd 10,000 


?= !) nfv;Dd 5,000 

 l;nfO{, a'gfO{ k;n 2,000 
 dlb/f ;lxtsf] vfhf k;n   

  ?= % nfvdfly 7,000 

  ?= % nfvd'lg 5,000 
 ef]hgfno tyf lrof, vfhf 3/   

  ?= # nfv dfly 3,000 

  ?= # nfv d'lg 2,000 
 ;]jf pBf]u -5fkfvfgf_ k|];  5,000 
 ;~rf/ ;]jf x'nfs lr7Lkq s'l/o/  3,000 
 6]lnkmf]g ˆofS; kmf]6f]skL  3,000 


lghL a}+s tyf ljlQo ;+:yfx¿    

 d'Vo sfof{no 25,000 
 zfvf÷pkzfvf 20,000 
 kmfO{gfG; sDkgLs]f a}lsË sf/f]jf/ ug]{ d'Vo sfof{no 15,000 
 ladf sDkgL 10,000 
 ljb]zL d'b|f ;6xL sfpG6/  5,000 
 lwtf]kq sf/f]jf/ 5,000 
 ;xsf/L ;+:yf 5,000 
 s[lif ;xsf/L ;+:yf 2,000 
 dlg 6«fG;km/ ;DalGw sf/f]af/ ug{] ;+:yf 3,000 


lglh c:ktfnx¿   

 gl;{Ë xf]d tyf xl:k6n 25,000 
 lSnlgs tyf Nofa  10,000 
 lSnlgs 5,000 
 lkmlhof] y]]/fkL 5,000 
 Nofa ;lxtsf] cf}ifwL k;n 5,000 
 sf/, a;, 6«s dd{t tyf ;le{l;ª  10,000 
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 l;6, x'8 l/k]l/Ë k;n 3,000 
 lj1fkg Ph]G;L  1,000 
 j}b]lzs /f]huf/ ;]jf  5,000 
 :jb]zL /f]huf/ ;]jf 1,000 
 xfplhË sDkgL vl/b laqmL 40,000 
 Jo"l6kfn{/ s]z l;|ªuf/÷skfn sf6\g]  2,000 
 skfn sf6\g] -x]o/ 8«];{/_  2,000 
 8«fO{lSng;{  3,000 
 xl:k6n ;fdfu|L laqmL  5,000 
 kmf]6f] :6'l8of] tyf sn/Nofa  2,000 
 k':ts, :6]zg/L k;n   


% nfveGbf dfly  4,000 


% nfveGbf d"lg 3,000 

 l;nfO{ k;n    

  @ nfveGbf dfly 2,000 

  @ nfveGbf d"lg 1,000 
 df5f÷df;' -sf]N8:6f]/_ k;n 5,000 
 df5f÷df;' k;n -v'b|f_ 3,000 
 kmnk"mn tyf t/sf/L ljqm]tf  3,000 
 l;;f tyf KnfOp8 k;n  5,000 
 s]j'n g]6js{    

  7'nf u|fxs ;+Vof !%) eGbf dfly 25,000 

  ;fgf u|fxs ;+Vof !%) ;Dd 15,000 
 dfj{n k;n  10,000 
 6'/ ck|]6/  4,000 
 ld7fO{ k;n    

  ?= # nfveGbf dfly 3,000 

  ?= # nfveGbf d'lg 2,000 
 lrof, vfhf ;fdfGo k;n   

  ?= @ nfveGbf dfly 1,000 

  ?= @ nfveGbf d'lg 500 
 8]l/ hGo pBf]u  5,000 
 efF8f k;n    

  ?= % nfveGbf dfly 5,000 

  ?= % nfveGbf d'lg 3,000 
 qm]g ;le{; ;DaGwL sfo{ 5000 



..14.. 
 

 8]l/ k;n  10,000 
 cf}ifwL k;n  5,000 
 lu|n k;n  5,000 
 gsdL{ k;n  2,000 
 h'Qf l;pg] k;n  1,000 
 l8kf] afx]ssf ;Knfo;{x¿ 5,000 
 a]s/L pBf]u   

  ?= % nfveGbf dfly 5,000 

  ?= % nfv;Dd 3,000 


wfg s'6\g] ;]n/ ldn÷lrp/f ldn   

 !% xif{;Ddsf] 3,000 
 !% xif{ eGbf dfyL  5,000 
 t]n pBf]u !) xif{  3,000 
 t]n pBf]u !) xif{ eGbf dfly 5,000 
 Dff]6/;fOsn kf6{; k;n 3,000 
 Dff]6/ kf6{; k;n 5,000 
 df]afOn dd{t k;n 2,000 
 sjf8L k;n 5,000 
 df]afOn k;n 3000 
 r:df k;n 2000 
 sDKo"6/ kf6{\; k;n 3,000 
 kfg k;n  500 
 UofF; l8kf] 3,000 
 df]6/ ;fO{sn tyf cGo ;lel;{ª  5,000 
 uf8L l/slG8;g k;n 10,000 
 df]6/;fOsn l/slG8;g k;n 5,000 
 ;fOsn k;n dd{t 1500 
 /+u /f]ug k;n  2,000 
 ;fO{g af]8{ k;n 2,000 
 ;]ˆ6L 6\ofsL ;kmfO{  5,000 
 cfNd'lgod k;n 2,000 
 ;]/fldS; k;n  2,000 
 Xofl08qmfˆ6 k;n 1,000 
 kmnfd ;DaGwL sfd ug]{  3000 
 ;f]nf/ alQ d]l;g/L cf}hf/ laqmL k;n 3,000 
 6]lnlehg :6]zg  10,000 



..15.. 
 

 /]l8of] Pkm= Pd=  1000 
 kf6L{ Kofn];÷:jLldË k'n ;lxtsf] ;'ljwf ;DkGg 20,000 
 kf6L{ Kofn]; 10,000 
 :jLldË k'n  10,000 
 l6=eL= k;n   


!) nfv dfly  10,000 


!) nfv d'lg 5,000 

 8«fOleË 6«]lgª ;]G6/    

  df]6/;fOsn / :s'6/ 3,000 

  df]6/ nfO6 / x]le 5,000 
 ;Lkd"ns Joj;fo tflnd s]Gb| 5,000 
 sDKo"6/ k|lzIf0f s]Gb| 3,000 
 efiff 6fO{lkË k|lzIf0f s]Gb| 2,000 
 6\o";g ;]G6/ 2,000 
 8«fO{leË÷;+lut, 8fG;, Jo'l6kfn{/ :Sofkkmf]lN8Ë cflb tflnd ;~rfng ug]{  3,000 
 l8kf] tyf ;Knfo;{ -9'Ëf, lu6L, afn'jf, /f]8f_ 10,000 
 k':6sf/L tyf u'bkfs ;Knfo;{ 3000 
 k':ts k'l:tsf ;DaGwL sfo{ -sDKo'6/df_ 5,000 
 ;+:yf btf{ tyf cfa4tf 3,000 
 ;'wf/ s]Gb| -k"0f{:yfkgf_, afn sNof0f s]Gb|, h]i7 gful/s s]Gb| 5,000 
 kmnk"mn tyf k'mn g;{/L  3,000 
 ;fgf s[lif kmd{ -km"n, t/sf/L, Rofp, kmnkm"n_ 1,000 
 s[lif kmd{ -;]8 xfp;, u|Lg xfp; 6g]n cflb_   

 
@ /f]kgL ;Dd 1,000 

 
@ b]lv % /f]kgL ;Dd 3,000 

 
% /f]kgL eGbf 7'nf] 5,000 

 s[lif Joj;fo ldl>t 5,000 
 kz'k+IfL Joj;fo ldl>t 5,000 
 s[lif ahf/ Joj:yfkg  3,000 
 ufO{ kmd{ 2,000 
 afv«f kmd{ 2,000 
 s'v'/f kmfd{ ;h{ldg d'r'Nsf;d]t / j8fsf] l;kmfl/; ;lxt 6,000 

gf]6M a:tL glhs s'v'/f kmd{nfO{ :jLs[t lbOg] 5}g, aFu'/ kfng k"0f{ ?kdf lgif]w ul/g] gLlt lnOPsf] 5 . 

 d];Lg/L kf6\;{ k"hf{ k;n 5,000 
 l;d]G6 dfq laqmL k;n 5,000 
 58, 808L, h:tf, l;d]G6 k;n 10,000 
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 ;'k/ dfs]{6 20,000 
 of]u Wofg s]Gb| 2,000 
 tflGqs tyf cfo'j{]lbs ;]jf s]Gb| 2,000 
 kfpFm pBf]u 5000  
 ;fwf/0f sf7 tyf :6Ln k;n 2,000 
 d;fh kfn{/  3,000 
 Hof]ltifL ;DaGwL 1,500 
 ;f8Lsf] lksf], ODj|f]O8]/L 2,000 
 6]lnkmf]g 6fj/ :jLs[lt tyf gljs/0f 20,000 
 km'6zn 4,000 
 e]6g/L Pu|f]e]6 1,000 
 s]gn Sna 2,000 
 kmf]x/d}nf ;DaGwL sfd ug]{ ;+:yf btf{ 25,000 
 OG6/k|fOh]h 3,000 
 s6g ldn 5,000 
 x]Ny Sna -h'd lkm6g];_ 5,000 
 3f]8 r9L (Horse Riding) 10,000 
 d;nf -s'6fgL÷lk;fgL_ 1500 
 kmnk"mn tyf h'; k;n 2000 
 l;nfO{ 6]n;{ -;l6Ë÷;'l6Ë_ 3000 
 6fo/ l/;f]lnË k;n  
 ?= % nfveGbf dfly 3,000 
 ?= % nfv;Dd 2,000 
 xf]n;]n/ l8n;{    
 ?= @) nfveGbf dfly 5,000 
 ?= @) nfv;Dd 3,000 
 On]S6«f]lgS; ;dfg dd{t k;n 3,000 
 On]S6«f]lgS; ;dfg laqmL k;n  
 ?= !) nfveGbf dfly  5000 
 ?= !) nfv;Dd 3000 
 k'hfsf] ;fdfg a]Rg] k;n 1,000 


;xsf/L cfo s/ -s'n gfkmfsf]_ !=%Ü 


‰ofn 9f]sf vl/b, laqmL 5,000 


v]nf}gf tyf luˆ6 k;n 3,000 


s'g} klg 8s'd]G6 k|lt k]h (A4) k]k/sf] k|ltlnlk lng' k/]df  10 


olb s;}n] xn ef8f lnP jfktsf] s/ ltg{ cfPdf -ef8fsf]_ 10Ü 
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
k|df0f–kq b:t'/ 500 


l;nfO{ s6fO{ 2,500 


l;/s, 8:gf, rs6L k;n 3,000 


Jo'6Lkfn{/  2,000 


Jo'6Lkfn{/ / s:d]l6s  3,000 

 hl8a'6L lhjhGt' -cg';"rL – %_ 
 gu/ sfo{kflnsfn] lg0f{o u/] adf]lhd nfu" x'g]5 .  

;jf/L ;fwg btf{ s/ -cg';"rL – ^_ 
* a;, 6«s / cGo x]eL uf8Ldf 2,000 

* ef8fsf] ldgLa;, ldgL6«s, 6«ofS6/ 1,000 

* ef8fsf sf/, hLk / 6\ofS;L  500 

* dfOqmf]a; 500 

* lghL sf/ 6]Dkf] ldgL a;, O{–l/S;f 300 

* :s'6/ df]6/;fOsn tyf cGo ;jf/L ;fwgdf 100 

cg';"rL – & -lj1fkg s/_ 
Joj;flos b[li6sf]0faf6 Joj;fonfO{ k|j4{g, k|rf/k|;f/, ;"rgf k]z, kDkn]6, t'n 6fFUg, leQ] n]vg 
k|To]s ;"rgf g} gu/kflnsf If]qleq x'g] ljleGg lsl;dsf lj1fkg xsdf cg';"rL -^_ adf]lhd lj1fkg 
s/ nufO{ c;'n ul/g]5 . 
1 ˆn]S;af6 tof/ ul/Psf lj1fkg k|rf/ ;fdfu|Lsf] k|lt jif{ ju{lkm6 ?= ?= 500 

2 
xf]l8Ë af]8{, Unf];fOg af]8{, tyf l8=kL=P;= (D.P.S) / o:t} lj1fkg k|rf/ ;fdfu|Lx¿ 
k|lt jif{ ju{lkm6  ?= 500 

3 l8lh6n af]8{, Unf];fO{g af]8{df ul/g] lj1fkg k|rf/ ;fdfu|Lsf] k|lt jif{ ju{lkm6 ?= ?= 600 

4 
lghL k;ndf sDkgLsf] nf]uf] g/fvL cfˆgf] gfd /fvL k|rf/ ul/Psf af]8{x¿sf] 
z'Ns lng kfOg] 5}g  

5 
;'lt{hGo, dlb/fhGo tyf ;fdflhs xfgL x'g] lj1fkg ljifodf lj1fkg ug{ lbOg] 
5}g .  

6 ;/sf/L lgsfo / ljBfno x¿sf] xf]l8Ë af]8{ x¿df z'Ns lng kfOg] 5}g . 
 

gf]6M -s_ ;do ;dfKt ePkl5 lj1fkg stf{n] :jo+ x6fpg' kg]{5 . olb lj1fkg stf{n] gx6fPdf 
hl/jfgf / cfufdL lbgdf lj1fkg ug{ glbg] gLlt lnOg] 5 . 

-v_   lj1fkg s/ gu/:t/Lo pBf]u jfl0fHo ;+3, RofDa/ ckm sd;{ tyf gLlh If]q;Fu ;xsfo{ / 
;dGjodf nufpg] gLlt x'g]5 . 

-u_    lj1fkg s/ cf=j= )&%÷)&^ ;Dd ?=!,#&,%&&÷– ePsf]df cfufdL cf=j= )&^÷)&& sf] nflu 
?= $,^),)))).– Go"gtd sfod ug]{ / c¿ @ jif{sf] nflu gu/kflnsfn] tf]s]sf] b//]6df 
lj1fkg s/ p7fpg] u/L k|To]s jif{nfO{ Go"gtd !)Ü a9fO{ Go"gtd cÍ sfod x'g] u/L a9Ldf # 
jif{nfO{ ;"rgf k|sflzt u/L k|lt:k|wf{df a8fa8df l;naGbL sf]6]zgaf6 lj1fkg s/sf] /fhZj 
p7fOg] 5 .   

dgf]/~hg s/ -cg';"rL – *_ 
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gu/kflnsf If]qdf /x]sf :jLs[t l;g] dxn÷lel8of]sn, ;fF:s[lts ko{6g xn h:tf dgf]/~hg ;fwgdf 
tklzn adf]lhd dgf]/~hg s/ nufpg ;Sg]5 . b//]6 -cg";'rLdf Joj:Yff u/] adf]lhd x'g]5_  
1 rlnlrq xn -Film xn_ l;g]df xn 15,000 

2 ;fF:s[lts gfr 3/ 10,000 

3 hfb", ;s{;÷;fF:s[lts d~r 5,000 

4 s]jn g]6js{ -Joj;fo s/_   

   @)) ;o eGbf dfly u|fxsePsf] 5,000 

   ;f] eGbf d'lg 3,000 
5 l8z ldl8of g]6js{ lnld6]8 10,000 
6 OG6/g]6 ;]jf k|bfos 3,000 

7 :g's/÷k'n xfp;÷Og8f]]/ u]d÷km'6;n 10,000 
8 /]l8of]÷Pkm=Pd÷ cGo ldl8of 2,000 
9 P]ltxfl;s, wfld{s, ;fF:s[lts, ;+u|fxfno k|j]z z'Ns -k|ltJolQm_ 15 
10 :yfgLo rnlrq 5fofÍg 7000 

jxfn lj6f}/L s/ -cg';"rL – (_ 
gu/ sfo{kflnsfn] lg0f{o u/L ;Demf}tf eP adf]lhd x'g]5 . 

kfls{Ë z'Ns -cg';"rL – !)_ 
uf]bfj/L gu/kflnsfleq /x]sf uf]bfj/L If]q, ah|jf/fxL If]q, n]n] dgsfdgf cflb 7fpFx¿df ko{6sLo k|j]z z'Ns 
tyf kfls{Ë z'Ns . 

;]jf z'Ns -:yfgLo k"jf{wf/ tyf ;]jf pkof]u, ko{6sLo k|j]z z'Ns_ 
1. a;, ldgLa;, 6«s, 6«ofS6/ k|lt lbg -7"nf ;jf/L ;fwg_ 25 

2. 6«ofS6/, sf/, lhk, Eofg k|lt lbg 15 

3. df]6/;fO{sn k|lt lbg 10 

cg';"rL – !! 



Kof/fUnfOl8ª, 6«]lsË, sf]Ols8, Sofgf]Og, aGhL hlDkË, lhk ˆnfo/, ¥ofˆ6LË 
z'Ns -jflif{s Ps d'i7_ 50,000 

;]jf z'Ns s/ -cg';"rL – !@_ 



3/af6f] l;kmfl/; b:t'/ -k|lt cfgfdf x'g]5_   

 sflGtnf]sky d"n ;8s  300 

 sflGtnf]sky;Fu hf]l8Psf] zfvf lkr ;8s 250 

 sflGtnf]sky;Fu hf]l8Psf sRrL ;8s 200 

 sflGtnf]sky;Fu hf]l8Psf] uf]/6f] af6f] 150 

 cGo zfvf lkr ;8sx¿ ;a} 250 

 cGo sRrL ;8sx¿ ;a} 100 
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 cGo uf]/]6f] af6f]x¿ ;a} 75 

 af6f] gePsf] ;a} 50 

 ;ftbf]jf6f] uf]bfj/L d"n ;8s -k||lt cfgf_ 300 

 ;ftbf]jf6f] uf]bfj/L;Fu hf]l8Psf] zfvf lkr ;8s 250 

 ;ftbf]jf6f] uf]bfj/L;Fu sRrL ;8s 200 

 ;ftbf]jf6f] uf]bfj/L;Fu hf]l8Psf] uf]/]6f] af6f] 150 

 cGo zfvf lkr ;8sx¿ ;a} 250 

 cGo sRrL ;8sx¿ ;a} 100 

 cGo uf]/]6f] af6f]x¿ ;a} 75 

 af6f] gePsf] ;a} 50 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n] d"n ;8s 300 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] zfvf lkr ;8s 250 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] sRrL ;8s 200 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] uf]/]6f] af6f] 150 

 cGo zfvf lkr ;8sx¿ ;a} 250 

 cGo sRrL ;8sx¿ ;a} 100 

 cGo uf]/]6f] af6f]x¿ ;a} 75 

 af6f] gePsf] ;a} 50 

 ;}+j', 5DkL, l6sfe}/j d"n ;8s 200 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] zfvf lkr ;8s 175 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] sRrL ;8s 150 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] uf]/]6f] af6f] 100 

 cGo zfvf lkr ;8sx¿ ;a} 175 

 cGo sRrL ;8sx¿ ;a} 75 

 cGo uf]/]6f] af6f]x¿ ;a} 50 

 af6f] gePsf] ;a} 40 

 ;}+j', j'+udlt, 8's'5fk d"n ;8s 200 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] zfvf lkr ;8s 175 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] sRrL ;8s 150 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] uf]/]6f] af6f] 100 

 cGo zfvf lkr ;8sx¿ ;a} 175 

 cGo sRrL ;8sx¿ ;a} 75 

 cGo uf]/]6f] af6f]x¿ ;a} 50 

 af6f] gePsf] ;a} 40 

 nln0t3'DtL d"n ;8s 200 

 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] zfvf lkr ;8s 175 

 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] sRrL ;8s 150 
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 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] uf]/]6f] af6f] 100 

 cGo zfvf lkr ;8sx¿ ;a} 175 

 cGo sRrL ;8sx¿ ;a} 75 

 cGo uf]/]6f] af6f]x¿ ;a} 50 

 af6f] gePsf] ;a} 40 

 6f}v]n j8Lv]n d"n ;8s 200 

 7}j, bdfO{6f/, ljz+v'gf/fo0f d"n ;8s 200 

 em?jf/f;L, wfkfv]n d"n ;8s 200 

 7}j, afF8]ufpF, em?jf/f;L d"n ;8s 200 

 7}j, l;l4k'/ d"n ;8s 200 

 cGo zfvf lkr ;8sx¿ ;a} 175 

 ;f];Fu hf]l8Psf] cGo sRrL ;8s 150 

 ;f];Fu hf]l8Psf] cGo uf]/]6f] af6f] 100 

 af6f] gePsf] ;a} 75 

 l6sfe}/j, a'?Gr'nL, b]jLrf}/ hf}af/L sRrL ;8s 100 

 uf]/]6f] af6f] 75 

 af6f] gePsf] 50 



pkTosf ljsf; k|fljlws/0faf6 :jLs[t ePsf] Knl6Ë hUufsf] 3/af6f] b:t'/ 
-k|lt cfgfdf x'g]5_ 1,000 

 c+za08fsf] 3/af6f] l;kmfl/;   

 ) /f]kgL b]lv % /f]kgL;Dd 1,000 

 % /f]kgL b]lv !) /f]kgL;Dd 2,000 

 !) /f]kgLeGbf dfly 3,000 

 Go"gtd /fhZj ?= %)).– eGbf sd sfl6g} 5}g .   



dfly pNnlvt af6f]x¿eGbf km/s cj:yfsf af6f]x¿ ePdf af6f]sf] k|s[lt x]/L dfly pNn]lvt 
b//]6x¿ lng ;lsg] 5 .  

  rf/ lsNnf k|dfl0ft -k|lt cfgfdf x'g]5_   

 sflGtnf]sky d"n ;8s  150 

 sflGtnf]sky;Fu hf]l8Psf] zfvf lkr ;8s 125 

 sflGtnf]sky;Fu hf]l8Psf sRrL ;8s 100 

 sflGtnf]sky;Fu hf]l8Psf] uf]/6f] af6f] 75 

 cGo zfvf lkr ;8sx¿ ;a} 125 

 cGo uf]/]6f] af6f]x¿ ;a} 40 

 af6f] gePsf] ;a} 30 

 ;ftbf]jf6f] uf]bfj/L d"n ;8s -k||lt cfgf_ 150 

 ;ftbf]jf6f] uf]bfj/L;Fu hf]l8Psf] zfvf lkr ;8s 125 

 ;ftbf]jf6f] uf]bfj/L;Fu sRrL ;8s 100 
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 ;ftbf]jf6f] uf]bfj/L;Fu hf]l8Psf] uf]/]6f] af6f] 75 

 cGo zfvf lkr ;8sx¿ ;a} 125 

 cGo sRrL ;8sx¿ ;a} 50 

 cGo uf]/]6f] af6f]x¿ ;a} 40 

 af6f] gePsf] ;a} 30 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n] d"n ;8s 150 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] zfvf lkr ;8s 125 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] sRrL ;8s 100 

 ;ftbf]af6f], 7]rf], rfkfufpF, n]n];Fu hf]l8Psf] uf]/]6f] af6f] 75 

 cGo zfvf lkr ;8sx¿ ;a} 150 

 cGo sRrL ;8sx¿ ;a} 50 

 cGo uf]/]6f] af6f]x¿ ;a} 40 

 af6f] gePsf] ;a} 30 

 ;}+j', 5DkL, l6sfe}/j d"n ;8s 125 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] zfvf lkr ;8s 100 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] sRrL ;8s 75 

 ;}+j', 5DkL, l6sfe}/j;Fu hf]l8Psf] uf]/]6f] af6f] 60 

 cGo zfvf lkr ;8sx¿ ;a} 100 

 cGo sRrL ;8sx¿ ;a} 40 

 cGo uf]/]6f] af6f]x¿ ;a} 30 

   af6f] gePsf] ;a} 25 

 ;}+j', j'+udlt, 8's'5fk d"n ;8s 125 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] zfvf lkr ;8s 100 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] sRrL ;8s 75 

 ;}+j', j'+udlt, 8's'5fk;Fu hf]l8Psf] uf]/]6f] af6f] 60 

 cGo zfvf lkr ;8sx¿ ;a} 100 

 cGo sRrL ;8sx¿ ;a} 40 

 cGo uf]/]6f] af6f]x¿ ;a} 30 

 af6f] gePsf] ;a} 25 

 nlnt3'DtL d"n ;8s 125 

 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] zfvf lkr ;8s 100 

 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] sRrL ;8s 75 

 nlnt3'DtL d"n ;8s;Fu hf]l8Psf] uf]/]6f] af6f] 60 

 cGo zfvf lkr ;8sx¿ ;a} 100 

 cGo sRrL ;8sx¿ ;a} 40 

 cGo uf]/]6f] af6f]x¿ ;a} 30 

 af6f] gePsf] ;a} 25 
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 6f}v]n j8Lv]n d"n ;8s 125 

 7}j, bdfO{6f/, ljz+v'gf/fo0f d"n ;8s 125 

 em?jf/f;L, wfkfv]n d"n ;8s 125 

 7}j, afF8]ufpF, em?jf/f;L d"n ;8s 125 

 7}j, l;l4k'/ d"n ;8s 125 

 cGo zfvf lkr ;8sx¿ ;a} 100 

 ;f];Fu hf]l8Psf] cGo sRrL ;8s 100 

 ;f];Fu hf]l8Psf] cGo uf]/]6f] af6f] 75 

 af6f] gePsf] ;a} 50 

 gu/kflnsfsf] gS;f kf; k|of]hgsf] nflu k7fpg] rf/lsNnf  lgMz'Ns 
 l6sfe}/j, a'?Gr'nL, b]jLrf}/ hf}af/L sRrL ;8s 100 

 uf]/]6f] af6f] 75 

 af6f] gePsf] 50 

 Go"gtd /fhZj ?= %)).– eGbf sd sfl6g} 5}g .   



dfly pNnlvt af6f]x¿eGbf km/s cj:yfsf af6f]x¿ ePdf af6f]sf] k|s[lt x]/L dfly pNn]lvt 
b//]6x¿ lng ;lsg] 5 .  



ljb]zdf cWoogsf] nflu k7fpg] k|of]hgsf nflu dfq cfo>f]t l;kmfl/; b:t'/ 
 gftf k|dfl0ft b:t'/ (Relationship) 500 

 s/ r'Qmf kq (Tax Clearance) 500 

 ;DklQ d"Nof+sg (Property Valuation)   

   -s_ @) nfv;Dd 500 

   -v_ @) b]lv %) nfv;Dd 1,000 

   -u_ %) b]lv ! s/f]8;Dd 1,500 

   -3_ ! s/f]8 b]lv @ s/f]8;Dd 2,500 

   -ª_ @ s/f]8eGbf dfly 3,000 

 cfo>f]t k|dfl0ft (Income Source)   

   -s_ @) nfv;Dd 500 

   -s_ @) nfv;Dd 1,000 

   -u_ %) b]lv ! s/f]8;Dd 1,500 

   -3_ ! s/f]8 b]lv @ s/f]8;Dd 2,500 

   -ª_ @ s/f]8eGbf dfly 3,000 



JolQmut 36gf btf{, hGd, d[To', ljjfx, a;fO{;/fO{, cfGtl/s a;fO{ ;/fO{, 
;DaGw ljR5]b -JolQmut 36gf btf{ #% lbgleq u/]df lgMz'Ns_ ljjfx btf{ 50 

 36gf btf{ k|ltlnlk 150 

 gftf k|dfl0ft b:t'/ -d[[ts;Fu_ 500 

 gftf k|dfl0ft b:t'/ -lhljt;Fu_ 500 

 3/hUuf d'NofÍg k|dfl0ft   
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  s_ ?= @) nfv;Ddsf] xsdf 500 

  v_ ? @) nfveGbf dfly %) nfv;Ddsf] xsdf 1,000 

  u_ ?= %) nfveGbf dfly @ s/f]8;Dd 2,000 

  u_ ?= @ s/f]8]eGbf dfly ePdf 3,000 

 ljjfx÷cljjflxt k|dfl0ft 500 

 hGd ldlt k|dfl0ft 500 

 d[To' ldlt k|dfl0ft 500 

 gfd;f/L l;kmfl/; 500 

 of]hgf k':ts tyf kmf/fd 100 

 hghflt k|dfl0ft tyf 5fqj[lQ l;kmfl/; lgMz'Ns 
 aGb 3/ tyf sf]7f vf]Ng] /f]xj/df a:g]  2,000 

 df]xL nut s§f l;kmfl/; 500 

 df]xL gfd;f/L l;kmfl/; 500 

 3/hUuf s/sf] n]vf]hf]vf ug]{ l;kmfl/; 500 

 lgMz'Ns jf ;z'Ns :jf:Yo pkrf/sf] l;kmfl/; -;xof]u_ lgz'Ns 
 3/ kftfn k|dfl0ft l;kmfl/; 500 

 JolQmut ljj/0f k|dfl0ft 500 

 hUuf wgL k|df0f k"hf{df 3/ sfod ug]{ l;kmfl/; 500 

 gfd, y/, hGdldlt, jtg km/s eO{ Ps} xf] eGg] l;kmfl/; 200 

 gfd, y/, hGdldlt ;+zf]wg l;kmfl/; 200 

 hUuf wgL k|df0f k"hf{df k|ltlnlk l;kmfl/; 500 

 hUufwgL k|df0f k'hf{df 3/ sfod l;kmfl/; 500 

 ljB't nfO{g l;kmfl/; 500 

 ly–k|]mh ljB't nfO{g l;kmfl/; 5,000 

 lsQf sf6 ug]{ l;kmfl/; 500 

 ;+/Ifs k|dfl0ft l;kmfl/; -JolQmut÷;+:yfut_ 500 

 pBf]u Joj;fo 7fpF;f/L, gfd;f/L, aGb l;kmfl/; b:t'/ 1,000 

 cfw/e"t ljBfno vf]Ng l;kmfl/; 500 

 ljBfnosf] sIff yk ug]{ l;kmfl/; 500 

 wf/f, ljBt' h8fg l;kmfl/; 500 

 cGo h'g;'s} l;kmfl/; 500 

 af]nkq   

   @) nfvb]lv @ s/f]8;Dd 3,000 

   @ s/f]8b]lv !) s/f]8;Dd 5,000 

   !) s/f]8b]lv @% s/f]8;Dd 10,000 

   @% s/f]8eGbf dfly hlt;'s} ePklg 20,000 

 ;fwf/0f l;kmfl/; 500 
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 ph'/L b:t'/ -lgj]bg_ Goflos ;ldltdf 1,000 

 gful/stf k|ltlnlk b:t'/  100 

 ;h{ldg d'r'Nsf -pBf]u, Joj;fo, snsf/vfgf_ 5,000 

 wf/f ljB't h8fg l;kmfl/;  500 

 ;+3–;+:yf, 6f]n ljsf; ;+:yf btf{ l;kmfl/; 500 

 gu/kflnsfdf ;"lrs[t ug]{ kmf/d b:t'/  300 


ljleGg ;d"xx¿ btf{ -s[lif, 6f]n ;'wf/ ;ldlt nufot_ 1000 

 
ko{6g z'Ns -cg';"rL – !#_ 

gu/ sfo{kflnsfn] lg0f{u u/L ;Demf}tf eP adf]lhd x'g]5 . 
 

cfGtl/s ko{6s    

uf]bfj/L lkslgs :kf]6{;   

ah|jf/fxL lkslgs :kf]6{;   

dgsfdgf lkslgs :kf]6{;   

cGo lkslgs :kf]6{;   

ko{6sLo :ynsf] cjnf]sg   

gu/ lgsf;L s/ -cg';"rL – !$_ 
gu/kflnsfn] cfˆgf] If]qaf6 cGoq lgsf;L x'g] 9'Ëf, lu6L, u|fj]n, /f]8f, jfn'jf, df6f], sf7, ;]n]6, v/L 9'Ëf, 
l;d]G6nfO{ cfjZos kg]{ sRrf kbfy{ kfgLhGo pBf]ux¿df tklzn adf]lhdsf] lgsf;L s/ nufOg] / c;'n pk/ 
ul/g] 5 . 

tklzn 

-s_ 9'Ëf, lu6L, u|fj]n, /f]8f jfn'jf, ;]n]6, v/L 9'Ëf, l;d]G6nfO{ cfjZos kg]{ 
sRrf kbfy{ 

 k|lt 3g lkm6  
?= @=@%.– 

-v_ kfgLhGo pBf]ux¿ 
 7"nf] 6\ofÍ/  ?= !%).– 

;fgf] 6\ofÍ/  ?= !)).– 
-u_ df6f] k|lt 3g lkm6 ?= !.– 
-3_ sf7 

 gu/ lgsfzL s/ -9'Ëf, lu§L / kfgL_ 7]Ssf ;DaGwdf ut cf=j= sf] af]nsaf]n /sddf !&Ü a[l4 ul/g]5 
. 

k"jf{wf/ ;]jf pkof]u z'Ns -cg';"rL – !%_ 
 
gu/kflnsfn] cfˆgf] If]qleq cfkm}n] lgdf{0f u/]sf] jf cGoqaf6 x:tfGt/0f eO{ cfPsf] ;8s, ;8s k'n nufot 
pkof]u u/] jfkt lng] z'Ns -jflif{s Ps d'i6_ . 
 
k"jf{wf/ pkof]u -9'Ëf, lu6L, jfn'jf, O{§f, kfgL_ z'Ns ?= %),))).– 

jftfj/0f ;+/If0f z'Ns -cg';"rL – !^_ 
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

 k"jf{wf/ pkof]u -9'Ëf, lu6L, jfn'jf, O{§f, u|fj]n, l;d]G6nfO{ cfjZos sRrf kbfy{, lkm/lkm/], sRrf kbfy{ pTkfbg 
tyf k|zf]wg ug]{ vfgL -jflif{s Ps d'i6_ z'Ns ?= %),))).– 

gofF 3/ lgdf{0f tyf gS;f kf; b:t'/ -cg';"rL – !&_ 
  gS;f kf; b/vf:t kmf/fd ?= !))).– / ljkb\ Joj:yfkg sf]if ?= !))).– 2,000 

  gS;f ;+zf]wg  7,000 

 k|ltlnlk gS;f / k|df0f–kq k|lt;]6 2,000 

  gS;f kf; b:t'/ -cfjl;o 3/_ 8 

  gS;f kf; b:t'/ -Joj;flos 3/_ ;6/ /fv]sf] 10 

  Joj;flos, z}lIfs ;+:yf, cf}Bf]lus 20 

  xfplhË, sDkgL, sf]ngL ejg -;+:yf÷JolQm_ 25 

  gS;f clen]vLs/0f lgoldt 7 

  gS;f gfd;f/L -ltg k':t] leq_ 3,000 

  gS;f gfd;f/L -cGo_ 5,000 

  lgdf{0f ;DkGg -cfjfl;o_ 2,000 

  lgdf{0f ;DkGg -Joj;flos_ 5,000 

  lgdf{0f ;DkGg -z}lIfs, cf}Bf]lus_ 8,000 

  lgdf{0f ;DkGg -xfplhË, sDkgL, sf]ngL ejg_ 10,000 

  kvf{n lgdf{0f :jLs[lt -jfn, sDkfp08_ k|lt lkm6 2 

  gS;f gljs/0f -:jLs[t ldltdf lt/]sf] /sdsf]_ #% lbg leq 5% hl/jfgf 
  gS;f gljs/0f -:jLs[t ldltdf lt/]sf] /sdsf]_ cGo  25% hl/jfgf 

  
e"sDk lkl8t &)) ju{lkm6;Dd tyf af6f] lj:tf/df 3/ k/L gofF agfpFbf tyf 
clen]vLs/0f ubf{ 75% 5'6 

  6x/f÷lk|–ˆofa -JolQmut_ 5 

  6x/f÷lk| kmfO{e -;+:yfut÷Joj;flos_ 8 

  
;docjlw ;ls lgdf{0f ;DkGg dfu u/]df cf=j= sf] b//]6nfO{ cfwf/ dfgL 
nfUg] /sddf 25% hl/jfgf 

  gS;f :jLs[t lnO{ uf=lj=;= df lgdf{0f ;DkGg k|lt ju{lkm6 -JolQmut_ 5 

 xfplhË ejg uf=lj=;= :jLs[t lnO{ ;DkGg k|lt ju{lkm6 -;+:yfut_ 10 

 k|fljlws r]shfFr /]vfª\sg ug{sf] nflu cldg b:t'/ -JolQmut k|of]hg_   

  )–! /f]kgL;Dd 1,500 

  !–# /f]kgL;Dd 2,500 

  #–% /f]kgL;Dd 3,500 

  %– !) /f]kgL;Dd 5,000 

  !) /f]kgL eGbf dfly 15,000 
 Joj;flos k|s[ltsf] /]vfÍg k|lt /f]kgL  3,000 
  ;fj{hlgs -ljBfno, :jf:Yo ;+:yf, ;/sf/L sfof{no cflb_ lgMz'Ns 
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 hUuf Knl6Ë l;kmfl/;   

 
) – ! /f]kgL;Dd 15,000 

   !– # /f]kgL;Dd 35,000 

 
 #–% /f]kgL;Dd 1,00,000 

 
 ^–!) /f]kgL;Dd 2,00,000 

 
 !)–!% /f]kgL;Dd 4,00,000 

  !% /f]kgLeGbf dfly ePdf k|lt /f]kgL yk  50,000 

 Knl6Ë cg'dlt -:jLs[t_ 
  ! – # /f]kgL;Dd 1,00,000 

 # – ^ /f]kgL;Dd 2,00,000 

 ^ – !) /f]kgL;Dd 4,00,000 

 !) – !% /f]kgL;Dd 6,00,000 

 !% /f]kgLeGbf dfly k|lt /f]kgL yk 1,00,000 

 hUuf ;Dofpg]  

 ! – # /f]kgL;Dd 10,000 

 # – % /f]kgL;Dd 50,000 

 % – !) /f]kgL;Dd 1,00,000 

 !) – !% /f]kgL;Dd 1,50,000 

 !% – @) /f]kgL;Dd 2,00,000 

 @) /f]kgLeGbf dfly 3,00,000 
 

cGo :yfgLo txaf6 lgsf;L s/ tyf cGo s/ lt/L cfPsf]df -;8s, af6f] k"jf{wf/ ;]jf pkof]u u/] jfkt_ 
9'Ëf, lu§L, u|fe]n, /f]8f, afn'jf, :n]6, vl/9'Ëf tyf l;d]G6nfO{ cfjZos kg]{  
sRrf kbfy{— k|lt uf8L ;fgf] ?= %).– -Eof6 afx]s_ 
sRrf kbfy{— k|lt uf8L 7"nf] ?= !)).– -Eof6 afx]s 
df6f]— k|lt uf8L ;fgf] ?= @%.– -Eof6 afx]s_ 
df6f]— k|lt uf8L 7"nf] ?= %).– -Eof6 afx]s_ ?k}ofF lng] 

lg0f{o ul/of] . 
 

 dfly pNn]lvt If]q afx]s s'g} klg /fhZj 5'6 ePsf pBf]u, snsf/vfgf, ;+3–;+:yf ePdf 
gu/sfo{kflnsf af]8{n] lg0f{o u/L nfu" ug]{ clwsf/ lbOPsf] 5 . 

 3/ hUuf s/ nufot cGo s/ aSof}tf /sd ;DaGwdf  
-s_ cf=j= @)&$÷)&% b]lv afFsL aSof}tf !)Ü hl/jfgf ;lxt c;'n pk/ ug]{ . 

 -v_ cGo pBf]u Joj;fo, sn sf/vfgfsf] xsdf !)Ü hl/jfgf ;lxt c;'n pk/ ug]{ . 
 cf=j= sf] z'?b]lv kf}if d;fGt;Dd Psd'i6 /fhZj lt/]df /fhZj /sddf !)Ü 5'6 lbOg]5 .  
 uf]bfj/L gu/kflnsf If]qleq /x]sf ag pkef]Qmf ;d"x x¿n] jflif{s sfo{of]hgf gu/ sfo{kflnsfaf6 

:jLs[t u/fpg' kg]{5 . pkef]Qmf ;d"xn] p7fPsf] /fhZjsf] !)Ü gu/kflnsfnfO{ clgjfo{ a'emfpg'  
kg]{5 . 

cg';"rL – !* kmf]x/d}nf Joj:yfkg ;]jf z'Ns 
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l;=g= sf/f]af/ ljj/0f -xKtfdf @ lbg_ dfl;s ;]jf z'Ns -?=_ 
1 3/tkm{   

1.1 ;fdfGo 3/   

  !÷@ r'nf] 150 

  # r'nf] 200 

  $ r'nf] 250 
2 k;n tkm{   

2.1 ls/fgf k;n   
   t/sf/L k;n gePsf] 250 

   t/sf/L k;n ePsf] 400 
2.2 vfBfGg, nQfsk8f, :6]zg/L   

   ;fgf] 200 

   7"nf] 300 
2.3 ;}n'g, Ao'l6kfn{/   

   ;fgf] 250 

   7"nf] 400 
2.4 kmnk"mn k;n   

   h'; gagfpg] 200 

   h'; agfpg] -;fgf]_ 250 

   h'; agfpg] -d‰of}nf_ 350 

   h'; agfpg] -7"nf] 700 
2.5 df;'÷df5f k;n   

   s'v'/f, v;L gsf6\g] 300 

   s'v'/f, v;L sf6\g] -;fgf]_ 500 

   s'v'/f, v;L sf6\g] -dWod_ 700 

   s'v'/f, v;L sf6\g] -7"nf]_ 1,000 

   /fuf] sf6\g] jBzfnf 1,500 
2.6 cf}ifwL k;n   

   Nofa gePsf] 250 

   Nofa ePsf] 350 

   lSnlgs ePsf] 700 
2.7 l8kf6{d]G6 :6f];{   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 700 
2.8 ;lkË ;]G6/   

   ;fgf] 300 

   d‰of}nf 500 



..28.. 
 

   7"nf] 700 
3 xf]6n, /]i6'/]i6, u]i6xfp;   

3.1 lrof vfhf k;n   

   ;fgf] 250 

   7"nf] 400 
3.2 /]i6'/]i6, ef]hgfno   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
3.3 xf]6n, nh, u]i6xfp;   

   ;fgf] 500 

   d‰of}nf 700 

   7"nf] 1,000 
3.4 tf/] xf]6n -ltg tf/] jf ;f]eGbf d'lg_ 3,000 
  tf/] xf]6n -ltg tf/] jf ;f]eGbf dfly_ 5,000 
3.5 kf6L{ Kofn]; -kmf]xf]/sf] cj:yf x]/]/_   

   ;fgf] 2,500 

   7"nf] 5,000 
4 ljBfno tyf sn]h   

4.1 ;fgf ljBfno   

   xf]:6]n÷Sofgl6g gePsf] 300 

   Sofgl6g ePsf] 500 

   xf]:6]n ePsf] 1,000 
4.2 demf}nf ljBfno   

   xf]:6]n÷Sofgl6g gePsf] 300 

   Sofgl6g ePsf] 500 

   xf]:6]n ePsf] 700  
4.3 7"nf ljBfno   

   xf]:6]n÷Sofgl6g gePsf] 300 

   Sofgl6g ePsf] 500 

   xf]:6]n ePsf] 700 
5 js{;k   

   df]6/;fO{sn÷;fO{sn 300 

   df]6/ 500 
6 kmlg{r/ agfpg] 7fpF   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
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7 sfk]{6, u|fd]{G6 sf/vfgf   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
8 clkm; tyf sfof{no 300 
9 Joj;flos ejg÷sfof{no   

   ;fgf] -% tNnf d'lg_ 500 

   7"nf] -% tNnfeGbf dfly_ 1,000 
10 c:ktfn, gl;Ëxf]d, x]NysNj   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
11 sjf8 sf/vfgf   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
12 pBf]u   

   ;fgf] 300 

   d‰of}nf 500 

   7"nf] 1,000 
13 ljz]if ;]jf   

   l/S;f Eofg 300 

   6«s 500 

gf]6M 
  != kmf]x/ Joj:yfkgsf] kl/df0f÷k|s[lt÷cfjZostf cg';f/ z'Ns sfod x'g]5 . c:ktfn tyf 
sf]n:6f]/ hGo kmf]x/sf] Joj:yfkg ug{ cfjZos ePdf 5'§} yk z'Ns nfUg]5 . 

@= 
pNn]lvt ;]jfu|fxL ;b:ox¿sf] afx]s jf a9L kmf]x/ pTkfbg x'g]sf] xsdf cfk;L 5nkmn, 
;xdltaf6 b//]6, z'Ns lgwf{/0f ul/g]5 . 

#= 
dfl;s /sd afx]s z'?df ;b:otf lnFbfsf] avtdf Ps k6ssf nflu ;b:otf jfkt ?= !))÷– / 
sf8{ jfkt ?= %)÷– tyf sf8{ kl/jt{g ubf{ ;d]t ?= %)÷– nfUg] Joj:yf x'g]5 . 

$= 
;b:otf z'Ns e'QmfgL ubf{ ljn ef}r/ clgjfo{ lng'xf]nf dfl;s z'Ns glbO{ cfn6fn u/]df r]s 
hfFrsf] ;dodf hl/jfgf ;lxtsf] ;Dk"0f{ /sd Ps}k6s ltg'{kg]{5 . 

 
 


